10024 BLFPESE 100204 B2 F 333888 A5 0 31160 - F

—_—

LA . K=

- B B

5§ A AR

BB AR

FRpER 2| ph B

ra R

= B o
R PSR B R GRTA R AR R L AL R K AP
BOY LR T AR E LYY o (S0 2A 0 X 204)

(&) visa-waiver plan

(©) bailout referendum

(=) furlough plan

() semiconductor industry

(#) jasmine revolution

@9 technological advancement
(1) euro crisis

(N money-printing press

(fv) spy surveillance

() compulsory treatment

Correct grammatical errors in the following sentences: (20 4 )

(— We are here today to demonstrate our commit to ending the fight against polio.

(@ The International Space Station began with the launch in orbit of the first station
element.

(=) Neither side wants any ambiguous in their message before the election.

@ If he was a rich man, he would donate more money to the society.

#®) Police have detained nine soldiers suspecting of killing 13 Chinese sailers on the
Mekong River early last month.

~ Translate the following paragraphs into Chinese: (30 4 )

The legal and illegal pumping of underground water faster than it can be replaced has
compressed water-storing aquifers, causing Bangkok to sink between 2cm to 5¢cm each
year. Scientists say the rise of waters in the nearby gulf as a result of global warming could
combine with the sinking land to put Bangkok under water much of the time by the middle
of this century.

Similar subsidence and seawater encroachment are occurring in Jakarta, Ho Chi Minh
City and Manila, where a typhoon last month triggered the worst flooding in the
Philippine capital for decades.

Bangkok, some experts half-jokingly say, may well return to what it was in the 19th
century —a water world where almost all its 400,000 inhabitants lived on raft-houses or
homes on stilts.

2~ Translate the following paragraph into English: (30 4 )
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